@bra 2 First Semester Assessment R@ Winter 201%

o il

DIRECTIONS

This section of the test is 71 items, which you will work in this booklet. Mark the correct answer as directed by
your teacher. You may use a calculator that has been approved by your teacher. Only your test booklet and
calculator may be used; no other materials should be on your desk.

1 Find the valueof 5+8 - 2 + 4 - 11. = t)’{(b’.,‘f’” > "5"‘4”‘\ = O‘( '”. ‘7@

A. =2 B. —% .2

4

2 2
LY Zm . — - 4‘
2 Evaluate (a-y)* +2)° ifa=2andy=-3. —» (z-¢-3)) +2 -%) = (3«*’6) 22

. = '5’1‘ - o
(A)-29 B. 43 C.79 D. -8 e
=12
3 Name all the sets of numbers to which -28 belong.
A. integers B. integers and reals
C. integers D integers, rationals, reals
4 Name the property illustrated in the equation 5n + (3t + 8n) = (5Sn=3t) + 8n

('A)associative property of addition = ( ) Mo . Aded
.. agel?
B. inverse property of addition - a4+ (-0} ¥ © ~2 opf osiies
C. distributive - 2 (xta) => DX +202

_ 243
: i yz. = 4+
D. commutative property of addition . ihe ovdev chone s “ ¥?3__.2.’

. 177 N = : ~=
5 Simplify —(6x +9)-4(3x-2). 2 x ¥ -z Y8 > -lox 4N
3 2 s

!

(A)-10x +11 B. 6x +35 C.-6x+17 D. -2x+%
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Algebra 2 First Semester Assessment Review Winter 2011
Pat’s score on six weekly quizzes are 10, 8, 7, 9, 10, and 10.
6 What is the mode of the data? M oat Lo e i
A.8 B.9 C.95 D10
7 What is the median of the data? Mddle # (n ovelar =, 44 10§10, 1% q o :L?';:
z
A.8 B.9 (CJ95 D. 10
8 What is the mean of the data? Awvevage (042414 V(OF £ = EI
A.85 (BJ9 C.95 D. 10
Solve each equation.
— ]
- ‘g I ) i
9 /',{;%y = —3— r .Z —2 :3 = — {
Z 5 14 z - 2%
- 5.3 ¢ 2 15
15 5 35 28
G- > \sx"3=3x*T> > |gxTe X’“%
10 x—1)=3x+3 5% v -3x o+ .y Lz i :
¢ = 2 ;
Al B.2 C.-2 D. L "*"l
11 Me-5=12  Ix-sl=w  x-g == AMD x-S =-o
= 2, X ':’_'i! &:(-?.. !
A.9 B. 1 (ch, o D. &
— - |
12 |y-8+6=15 \w -¥\=% -¥ =4 MW-%=-9
’ I\b -0 N \‘3{:17{4 k‘3{«5;-’;;_i_j
A.17 B. -1 (7,1 D. O
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Solve each inequality.

. =N g >
13 3G-1D+1529 —>vE23F5ZA D v tﬁ%ﬁg
(Ay{r < 13} B. {r > 13} C. {r < -13} D. {r > -13}
L/'th
14 Pw-7 <2  B-FLZ  Bw-FZ-2Z
Zuwstq 2w Z ‘3 — Q" Lt 3
~ .5 otz wEo/3) 3 == .
‘A-{g <w < 3} L i g {{3 £y & 3}
C. {w < 3} D. {all reals}
15 Which of the following is the solution set of 2x -5 < 10@33 -4x>57 Ve P
21 a-f_,a_;‘i,_.?,..__b —ux2-2% |X<32
15 x& I°/E) X2 T =
(A {x < > orx <7} B. {7<x < ?}
C. {all reals} & D. {@} TN
j\.\l,\ofg ovewev & o otal % i& “’;’;3 /} e
16 Identify the graph of 8.5> 6.1 + .6y. 2.4>0.6b u> iy Zz
-6t ¢ Db 7:’?5& 1 %
A. B.
O b
2 -1 0 1 2 3 4 5 6 2 -1 1 2 3 4 5 6
Lo I N NN N N | D T NI T R B S N R
> < N R BA BR B NS
2 -1 0 1 2 3 4 5 6 2 -1 0 1 2 3 4 5 6
S -7 x s,/ajJAwé‘:? e e ' t - g,\,}"
17  Give the gfomair;))fh={(0, 0), (1, 1), (2,0)}, and tell if /2 is af@m* x's do not vep?
N -
A. {0, 1, 0}; Ais a function B. {0, 1, 0}; 2 1is not a function
C{O 1, 2}; A is a function D. {0, 1, 2}; A is not a function
L = - - = - IiS-72 =
18 HAx)=v’-2¢-2,findf-3). L(-2)=(3) 2L 3) -2 = T+ -z TiS2=3)
A1 B.-13 C.-5 D13
APHS/MATH
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19 Which equation is a linear equation?
3 No“"(}y\‘“\'{ T
(A)3x-2y=5 B.y= #-3x+1 C@ 60 D.x=)@+l
. % & anan !
20 Write 3y + 5x+1=01in @dard form) =7 Axt %j =C X gu\ Goame. 5\&& No dt’oor-emc
A ot e PoS .
(AJsx+3y=-1 B.5x+3y+1=0 C.3y=-5x-1 D.y=- % %-
21 What is the slope of the line whose equation is 2x =3f W | Ap-4= -9 mult by - — Lx+d
._q - /b
—FUX vy
A.1 B.2 (C.r2 D.-1 | {/ b
Y Hmx t
~tnk
22 What is the y-intercept of the line whose equation is 5y = 7x - 1? 7 ? Slope 3 "
—~ 1 1 =rF ._.p e gt
AL—— B. — C.1 D. -1
=5 5
3 : i . . {};@ ‘; go'\ﬂ Qu\'*?(
23 What is the x-intercept of the line whose equation is y = —2x + 1 Subst. ze@o vov A |
A. 1l B. 1 C—l— D. -1 O=-2xnt
2 Nt D -1 =
A= \x=l)
-z "2 vt X (‘uﬁ)
. ) ) 2y Yy ) S 7] 3 tethe P
24 What is the slope of the line passing through (0, 2) and (8, 8)?
A.8 (B)2 c.-2 D. -8
o ~ 4 4
e S ©
Ko =%y | g0 g i
L _Slope .J Porwi -
25 What is the standard form of the equation for a line that passes through (0, 7) and that has a slope of
x4,
\O~ ‘? +- % lofe +v )
S} P@"’\ :: - ‘3*?“""’ fx—b) -—-—‘7}, x+F wald ‘033
wjl V\’\L)(’X{Ix _Y —2 ‘3 q
v 1’4- /5% Sw '-'-IX*“’;b add TX
A.5y-35=-4x B. y-7= —5* C. —5xty=7 (D.} 4x+5y=35 L\_B):gb’-—-S{)
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X%
26 What is the slope-intercept form for the equation of a line that passes through (0, 0) and is oa

line whose equation is 2x + 3y = 67
Need Sl0¢ ga.cw\. '\M)?. Solve Qm 5 . La s %impé’-
A.2x+3y=0 11.3y=2x C.y=3x {"ii";‘f;:yz-ix
2z (0,0) 3 3 ~< N
- ) ap & == wpe, {0y c el )
‘58)' ppTe M s \ - o = -E (x-0) !%' e,
p '7’;,7‘*'2 \3‘\)3! = (%) D & e
~ = — 4" & ‘_\T;
27 For which pair of equations are the lines p wﬂlgular\‘ﬁt S(Dg,ei ave opp parie veo (3\::0 te ‘é /
Same wa - pavalle! i VAP vocod?
A.y=2x-5and y=2x+5 B.y=-2—x+landy=2x+5
C.y=2x+1landy=2x-5 ffﬁ:;y=—2x+landy=%x+l
w S \\—,/
Gpgosvw ¥ Oppostie rupeal s

Find the sl\@e:inter;;ﬁt form for each graph described.

28  Slope = -4 and passes through (?f3| (j))’ usc pr—Slope Qv == Wy~ =04 (x-%)
Ay=4-3  B.y=- C. x- %y =3 y=4x-12
w-o =-4lx ¥2)
lﬁ = - -\

X( 5 p k g;%WV
29 Passes through (5, -2) and (10, 15. F v Sloe 5% 4 bun PH-Slove "a)"m (prek o=

pow‘:#'a\'vevx)

A.y=5x-3 B;§y=%x-5 C.y=-5x-3 D y=--§-x—3 B
\"(4)-3 ' - 32 ) -1=% :7?lx—b’f;
= - - —l~_(“lQ' l'-—;)(—b L {
10 -5 e =] J < 9 LS L \3 - T
30 Find the graph of 3x - 2y =10. 2p\lve 331» 4 1
-Gy -3 ¥
(A) | C. D.
w2
—Z,
=5y -5, .
420 -2 up> o inker
2 % oMz = D Frow e
; 5\1:\.‘“_)17\0{. |37 e use shee z iz A ycs
APHS/MATH
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0 e . vobuts ave \ -sWhaped

31  Find the graph of y = |x +2|. =2 L vevlex ok x=-2
¥+2=0
B. D.
32 Which inequality is graphed at the right? . ‘
Solid lire £ ov2 "
‘Ay >2x-1 B.y <2x-1 shadod albove Y Wire 7 =
C.y>2x-1 D. y<2x-1
_'5 + w=-1 m s WPz 2z
wmieveePT Y4 T
b Haw loole at Slo\oe
33 Which of the following systems is shown in the graph below? .
£ step —2%mnce the Lines ave
Ay+2x=-4 =4 pava e | 5-0\\)3 iﬁ‘_
y-2x=1 “y+2x=1 - T
C.y-2x=4 (D.y-2x=4 Cuatums -CUV:\ e
y—2%=1 L oyrax=i W W Eov elopes Hrat ave
4= Lo +d Hhe zame, !
o/ &1 s TP +Hre Lines Weve pevpendic.
o lopes Mot av?
) -~ ' (ool Gov Sl0PTS —Mal AR
Sawve 5\0?55 o(\oo%{-&e m,i.ov’acalS-
& " . . A_/""M“_-n\ . 5 X - 2y )
34 Which expression can be substituted for y ifi the top equ@of the system B to solve the
Solve Hre botom eGuation o ic_y—L
system by substitution? olve oy CQua =k
¥ o pulr ir into the tvpo —y =% +1
=¥~
Ay+1 B.1-y C.—gx + - )
5 8 Vgt
35 Y t to€liminate x by addition)in th Q‘?) oA Itiply each side of th
: t
ou wan oélfmma e x by addition)in the Systeat | 5y = 28 you‘mu iply each side o op
equation by which number would yp@ multiply each side of the @quation?
P an Y
A.3 {B.-3 D.-4 _ -
- T elimivale w[ad!cQ\l"*""" 31‘:
APHS/MATH Zlb  pust malle e X5 0pp0s! 5.
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/i\\»;\n.\na\ﬂ % wse elivalna s

. . , (2 2) 5x-p=7
36 What is the Valu@m the solution of the system

?
x=8) 2013y og-1Sy b
B.2 C.-3 D. -2

_17w="51 |
1575 1y
-1
VN\V’\Q v\"
8,9 32153
37  What is the value of 3B<) q ? = gk ED4% - 22-LY =S
(A B. 59 C. 60 D.-5
P B
o Ho? |- . Sl
| A S TR NEE
38 Which expression represents y in the system? ‘12 |/ ‘ 2 -5‘ 75
cvameY's vule 2% - 3y~ -20 I
3 9 ’3 2 3 -20 9 3
= 12 =20 2 3 9 -
@) e c.B 2l g
w13 2 2 9 3 2 3 -3
2 3 -3 20 2 -3 2 2
39  Which system of inequalities is grapplllfg‘i?,un*"‘l T Sold \ine £ orZ
dasthed e < ovr)
A.y>-2 i 5
y =z 2x+1 y < 2x+1 S haded aloove the \ire >ov 2
——Slhadud below +he yre & ove
Cy=2-2 D.y>-2
y = 2x+1 y<-2x+1 e
X ¥ Xy Xy
40 A feasible region has vertices at (2, 3) (5, 3), and (2, 6). The minimum value of the function
f(x, y) = 2x — y for this region? £l25) = Al2)-% T U=3 =
CNea(8)-3 = 1D-3 3 &EMaXimum
B.7 C.1 p.3 L5

4-6 :@ Mminimuw

"

Tx -4y +z=-11
41 Which ordered triple is a solution of the system shown at the right? 6x +5y -z =0

t—‘—m\\e X, W, = (n+o eaectn gqum{n\:pn : i _
S:\]L:‘-)Etwﬁ‘f' Wf?"\"* ont Lov all 2 cuabmng  2X-3y T4z 8

P g, x Y a
A.(4,2,-1) (B)L2.9) C.(-1,-1,0) D. (2,2, 2)
V% N 1
APHSMATH ) 1) w2l 2 DT B T (o e
Page 8 é(_'\ _\,5’(2) o L+— - D - wlo N
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2x+y+z=13 e wat do in class.
42 What does x equal in the solution of the system at the right? 2x -y -3z =-3

x+2y+4z=20
A.3 B.2 s;g.f;:‘4 D.5
U (2 L3 cH Cg\
4 1 -7 2]l X wmia S
43 Name matrix N using its dimensions if N = P— Zowb
2 8 3 0|t A4
A' N4x2 B' N2xl {C'N2x4 D' N1x2
e\ ez eB
44  What are the dimensions of[2 -1 6]? @\ lx %
A.3x3 (BJ1x3 C.1x1 D.3x1
13 3] Mele evev3h‘c 29 -9
45 Find 3':2 1 4:' b%» 79 b _3 12
|3 9 9 1 3 3 3 -
(AL B. C. 7 D. 160
=16 -3 12 6 2 8 2 -1 4 5 27

o F,d2-34+100_3‘3‘*]
11N o
1 57 0 -1 5 i 4 1z

DirmenSlons must ke Hre same. Ax?3 +ax3. Add each celt Jn;ie“’«'mvf

NEEE g [2 3 4 QP 24 p 200
1 5 7 1 4 12 =11 4 12 0 -5 35
LT 3 _‘f({; b ) \
N &2 4 4 _ (-2,) -3 (4]
47  What is the value of |3 \,\-\lf/‘lf r’ /3')'*‘2 = 1 () g} (D) + ()0 (-3) - ('?y‘t)_“(z’\) ) L} ¢

“2 -3 - | FL4+Ig—dtIZ+2y 1)‘“'3‘&

s

) 2 » ;’g{ by ¢ i
A. 43 {B.}115 C. 51 D. 123

I

WS¢ Aiasowa%s
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.(«l\(o\l’ (Z}fl\) e u\ F200) D ng--]l R '-'H.uﬂj i
o-% 34 i

A.[0 2]
Crocke Qlimensions  dxd ya\xﬁ

, Sawe, .
WM-F %W& f'\l%* Mot V5 ‘g\a ) (A)iumiﬂ% " +W Bﬁtaﬂ@’

What is the identity for a 2 x 2 matrix?
~~|1 0 11 0 1 0 0
LA B. C: D.

50 If M, is multiplied by N, ,, what are the dimensions of the product?

49

A.4x4 B.1x4 Chx1 D.4x1
A _,L..u_;,,_\)
| &s | = Txl

Sawme 2\/\ . 3 %2

42

What are the dimensions of the product shown at the right? [5 -8 9} ?
4 6

51
(AJ2x2 B.2x3 C.3x3 D. Not defined
axg 3’)42. - 2%Z
ol ool

52 Find thf the inverse of] [ } [3 I\ J
-2

opd

n 7 CM

- ~?
[wxx C?wavh(c »]! /Mﬂl\“mwtv Qua vii e @2
Ay L
‘\;;.}257. 287.] 257 2s? ék

For the set of data shown in the box-and-whisker plothT?sTfthe

53
,, Lowey Extreme S
upper Cxtveme ~ Lowty exivewe T T
\L ’LZ"I:“ 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
A. mean B.,_frange C. median D. interquartile range
. S -
Con' ‘L"‘cﬁ on o box-n-wlnmtkev ”"““ ; 2=1% ®@2-Q1= 181325
54 If the augmented matrix for a system 1s[ 23 F 1 xWhat is the system of equations?
.\ R \3
>\«.>-,_m~ f
A2x+y=3 B.2x+3y=1 C.3x+y=3 D.2x-y=3
T 3x+2y=1 3x+y=2 x+2y=1 3x-2y=1
APHS/MATH
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x ‘6 Lol\s\ﬁv\\’ M\“)
0 |3 > lxton=3 ¥=3
55 The augmented matrix for a system is{ J . What is the solution? Ox W= v lg:‘-}
0 2 |4 {(5 =
A. (3, 4) (B.(3,2) C.(1,2) D. (0, 2)
L
€ : -z -5-LY) 4/ ¢
6 Simpli A2 Reduwe  Subhvack e = Ami ta S
P Zf mi action e,xpwfﬁﬁ 'g =Y 1 Lid
a3 M. 4 s A 4,3
AL Adm™t - ‘\h\‘r B. _31132 ;C';4mS D. m't
5 QT t “ 5t 3
N\ - L - -
57 Simplify(7m-8)2. = ("tw\-—%\ (Tw-%) = 4Am - Sbwm " Sbm +oH
Fo\L = UQAwmt-Lliwm Tkt
A. 49m> + 64 B. 49m” - 64 (C.49m* - 112m + 64 D. 49m" - 30m + 64
5 Yy} = 4 u..!""
58 Simplify(3w5)(—m)4. = (5W"\)(M ) ?j”"
(o2 L) - m) (Y [0 2
(AJ3mw® B. 3m'w’ C. —12m*w’ D. —3w’ +m’
_Milk. expowents . /Mavljf‘o clevom
20,3 Y2 2. L _ Sult exponents AN A
59 Simpnfy%—“}p = _C_‘__f___é_.}/ - @ Sreietd = ar . r?
ar's ngs 5 m— a 55
1 o~ 7 a’s
A. - g B. C. = D. —
a’rts’ ~ s’ as 7
. .. . 13¢ 5671 > .
60 Express 86,400,000 in scientific notation. R H0O 000 Z LHX 1O %) 9 ** - pos. €xP,
: "
A. 864x 107 B. 864 x 10° C. 8.64 x 107 (D.8.64x 107
. 4-2i \hiplu bu +he
61  Simplify—=—  Wulrie'y
P TS 00»\3(&3&"9 o dengm,
“A.ll - 137 B. 11-14i C. 13 -17i . 17 - 13i
~ 29 29 29 29
' . - = -2 . .
(4-20) (1-20)  _ ag-2i-wid6i? | 2§ -2Li-b | 2226l a4y
(14350 (1-3i) uq-z\uzu—‘%‘f 4 +4 5y =t
APHS/MATH FolL 7 = M-ty
Page 11 f = 24
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62 SimplifyG-vT)s+ 7). = 15+37% -SF-F = B-2(=
A.8++7 TFolL B.8-47

(cJ8-247 D. 8+27

Factor eaclh polyrzlomlal completely. LWlwot o e Hhre .Qd.grg_, ol 10 Haat add +o 9
X220 =2e

f ‘L k2o
63 {m’ +9m+ 20 ke + S

w_(,m w ¥& twit) = (w8 (m-\'u)
A. m(m + 29) B;(m +4)(m + 5) C. (m -4)(m - 5)

D. prime
_lx-uiz24 fackurs of 24 Hhak ada to *1O NZ 2|+ 12w —H)
64 1n”%10n-24 13 x-%- niw-t) rzint
‘ () (n-2)
(AJ(-2)(n+12)  B.(n+2)(n-12)

C. (n—4)(n-96) D. (n+4)(n+6)

X036 pwat one The faclove & -30 that add *0 7'3 32 il p-10
65 347 -13b- 10 b

— 2 (- -sy+2(b- b)
A. Bb+2)b6+5) B.(3b-2)b-5)

C. (36 -2)(b +5)

(3 +2)(0-5)
(D35 +2)(b - 5)
Mo\ \,,\3 m-&vaa\e c
_ iz ~; _ \1-3'2
66  Simplify (- ":‘;’ = 24T 2 =
+2 (42 (p MTHUVE -2 Iy +
" 12-642 B.4-\/5 C‘4-\/5 «Dalz 3J2
7 2 3 | ™ 7
- e
Mulk By ““éﬁ“ v, v M Vey
( i 2 % Vi \ip '511, RN F AV -N
\ﬂV)M"'V - In _Ly\\(zh\/._\l N
67 S1mp11fy . - . = W -V
(]
nz V)G\Z.\N 2) n =
. i Foww | . 3 3 O L
A p? 492 B. 12 -2 ‘:;,:.C-«-}nz -v2 +mv? -nly D. " -2n*v? +v
n-v n-v -
2
68 Divide using long division: (x* +x° -7x" + 13x +4) + (x" +4x +1) . H\‘ o rx‘h—x ’lxlqA’:XHL
62 + 22 O &
A. x2-3x-4+—§2x—:—13—1 B.x2+3x-18+-2—j_c4——-_*_—1— ﬁ'b %{HIZX
e ¥ . * C’ag%,\le o
£ e 2 2 —————‘-—""—
;;?E:;x -3x+4 D. x —3x+4-——-xz+4x+l 4* +|‘,“4J+
G)%xl?lb‘&*—°(
-——,,4
[»)
APHS/MATH
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Wb
.;’13 AA\_,/’ \3 S - :lz'
’;\/Y =t € S— =2\ x-4 }'{~S> > % :‘i +-(?

69  Solve Ix-4-12=-7
iz e x =129
A. 19 B. 121 (€129 D. 0 T
N = - FAT S . w*“"‘*;
70 Simplify(4-2iY.  (d-20) (4-20) = \L-Bl-FL AL lo—teL -4 "*V- lbe
Fo\v
A. 12 B. 20 {C,12-16i  D.20-16i
no KZ e v
/
71  Divide using synthetic division: (2x* +6x° +5x - 6) + (x +2) -2 | ;3 G (: & ~ls
32 CRIZ O\ Vgt Sl
(AN 43 3 _ _ 2 - h A—A—1 _
A)22 +20 -4r+13- == B.2¢ +2c+x-8 |, e 3l-32
’ 8 8 __22
C. 2% +2x+x—x+2 D. 2x* +2x? +x—x+2 E},@h&%z Uy +1 Y“Z
If you finish early, you may go back and
check your work.
APHS/MATH
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